1230!5@°31EI®I3 EMEN0R

= I

TREMZ I'SEBHIIIEF)I”J ERBYET.

[BEEIELTE 51115 SRS &) 1SS
Eﬁ*ﬁl&-ﬁﬂﬂmﬁ RILRIRIE

{ Friandai ﬁ'{

128 ## LM

Wty m“"-”‘t*’f\bnz\b\mmﬁi
’”’5 280e 7'
,m (x100gé1')1<{$1037 5m)

ﬁ:&(",378 ‘

5B RS TUBLERDBYE

i +. BEL3TH4
O-ZUpSLesA  RALPSLeSHA o )

+980x

BiiA(3,218.40m)

BB TUBLBHEBY T,

& 98"1
BEA(753.84m)

SEREoTUGLERSB) ST, B R TUSIGHEBYST

B

EEREDE A
O—2ZZ5—*A 980” ﬂ:‘“
(100g24 1] BE&(1,058. 101'1)

BEEoTUsLEReRIET,

2698

M(753 847)

BB TUBLER OB T,
o

g 2aon BEik (5,378.101)

5 —BIR) E> CUBUERE B ET. ) BT BUENEB)ET.

APy 1,0
S 753 04r) ST

BB R> T BIER OBV ET.

(10084 51$647.9] $EA(3,218.40m)
B> UGB 63 5T

B5A(950.40m)
BRI R CBUERONE T

-D—th}’ibm}’iﬁii /
-/bw.rw.r‘w
8, i 5880
M 2 B(950.40m)
-E!mmsmmmmmun-

| H5

/ )
EEITEN (100824444521, 179)

+1,980-

#ia(2,1 38.40?;)

+2:980x
BEA(3,218.40m)
Bt io LG ERe B ES

(100g2%)
#(4745.09)

$E2(246.247)

!
O=ZrE—=3
25 A ()
iy
Gioogysa73a 4

; u68°n +:880x

B5A(950.40m)

TR
ﬂ“ »ifnmummﬁa .
BEA(116.64m) GDE: gﬂ

Bl B(149. MHD T
N mggiin w:lmw.uwm i—mmu;
Wiz s -;
8@8@ EEQWJ!HHB “”"*'”’“‘" z:ﬂmﬂ 5
Ba &(11 7
8?: BA(138.243) z}fiﬂ 228n Sy |
BA(127.44m) i w06 BS

BUE200AT EICIHA Vb
(f#—"ll{('/de)lﬂﬁmﬂfyﬂmﬂtﬁulh)
0

LS 508)12.508 41,008,

(425 mE] BEA(3,885.81m) | BLA (2, 805%11)

AR B
BIROEOHITTE!

LBEA (2,157:31m)

BRETDLHIC
21V B4
[1/72 2 (7002A) | %

)
#52(8,618.40m)

3,990"

#62(4,309.20m)

151,080, now) %

DSCRPUGBSIIIUNAN
I I H—wom) WXV AX

. ‘ 1,980 &=z 1

3] G 63 UE
BiA(2,138.40m) ‘m(‘IV.BBZ.hﬂ'n) B4, 38 408

B2 (645.84m)

- y 1 f“] : » e
555, E.?.?’Egg};ﬁ?‘f?ﬁ JQ B0

i -soosnens rcvss | BN
12
3

BHA(3,758. mm \

il
AB1003~500sD5R 842 L TOEY
48%

78%0) | |

iﬁaﬁ 706 40F3).

&ﬂ(l »598.40m)

M(‘I ,058.40m)

(ERR)
KYA.

A
381]

#32(1,706.40m) m(&ﬂ 84F)

Tooemu] t
o] mm ,382.407)

BA(2,754.00m)

e

213) i
~Ebh!ﬁ§mmﬁm #HA(1,080.00m)

0 0 R 81 S ¢
SOSHEMInI— LS

19980, »

E3
BiiA(2,138.40m) *3’50"'

15 day ;]
6i2(3,218.40m)
31HQDHI I H5E
7

3080-31HQ
3 zammmnﬂ

; !
HESEERIELH U]
| @REEEHD
BA(645.847) ﬂA(slSum e
HEABAA-TTT, HEREAA—

|II1 vk SEOO—2b —
£ = ﬂtw 5985& !ij 398w e s
BA(537.047) >

HERI—F —TBROVRHTEL.

=% ;]
BA(753 84m)

i
BER(270.001)

SBR~7 — THRLRD TEL., S~ BR)BSTIEISHODYET.

?Elu') ‘ =
six xu128w v tu98w

= BA(13824m) 78 BEA(105.84m) BiiA(138.24) uA«:«m 84F)




